


5
5



•	 Air Control System (Air Only)
•	 Anti Roll Bar + Mounts
•	 Rebound Cables + Mounts

1

1

2

3

4

5

6

7

8
9

10

11

12

1314

7

10

1

1

2

3

4

5

6

7

8
9

10

11

12

13
14

7

108





12

2

2

2

3

4

5a

6
8

7



1st 100km 1st 300km 1st 1,000km 5,000km 10,000km 20,000km

WHEEL NUTS TIGHTENED

TORQUE SUSPENSION & SHOCK 
MOUNTING BOLTS

GREASE HINGE BUSHES

INSPECT BUSHES

SHOCK ABSORBERS VISUAL 
INSPECTION

WHEEL BEARINGS CHECK

WHEEL BEARING SERVICE

CHECK BRAKE MOUNTING BOLTS FOR 
TIGHTNESS

BRAKE ADJUSTMENT & CHECK

BRAKE SERVICE

WHEEL ALIGNMENT

BOLT / NUT SIZE

M12 BOLTS W/ LOCTITE 

M16 BOLTS & NYLOC INSERTS

3/8" UNC FLANGED NUT

3/8" UNC FLANGED BOLT

A-FRAME HINGES

AIRBAG MOUNTING NUT

AIRBAG MOUNTING BOLT

120

190

25

25

INITIAL CHECKS, at SERVICE INTERVALS, every

TORQUE (N.m)APPLICATION

SHOCK ABSORBERS

1st 100km 1st 300km 1st 1,000km 10,000km 20,000km

WHEEL NUTS TIGHTENED

TORQUE SUSPENSION & SHOCK 
MOUNTING BOLTS

GREASE HINGE BUSHES

INSPECT BUSHES

SHOCK ABSORBERS VISUAL 
INSPECTION

WHEEL BEARINGS CHECK

WHEEL BEARING SERVICE

CHECK BRAKE MOUNTING BOLTS FOR 
TIGHTNESS

BRAKE ADJUSTMENT & CHECK

BRAKE SERVICE

WHEEL ALIGNMENT

BOLT / NUT SIZE

M10 BOLTS W/ LOCTITE 

3/4 UNF NUT

M10 NUTS

3/8" UNC FLANGED BOLTS /NUTS

A-FRAME HINGE NUT

COIL LOCATOR NUT

AIRBAG MOUNTING BOLT & NUTS

50

190

50

16

INITIAL CHECKS, at SERVICE INTERVALS, every

TORQUE (N.m)APPLICATION

SHOCK ABSORBERS

MAINTENANCE 
SCHEDULE









Watch how to set your ride height on YouTube:           CruisemasterClass - Ep 3





IMPORTANT SAFETY INFORMATION:
•	 It is recommended that only a properly qualified person installs the product and 

carries out removal and refitting of any components.    
•	 If removed, never inflate an airbag assembly unrestricted. Improper use or over 

inflation may cause property damage or severe personal injury.
•	 Never inflate the air springs beyond 100psi.
•	 Never cut, weld or modify the airbag or associated parts. 
•	 Do not use aerosol tyre repair products in airbags.  If there is a hole, the airbag must 

be replaced.  
•	 Do not use a tyre patch of any kind on an airbag.  If there is a hole, the airbag must be 

replaced.  
•	 Never weld within sight of an un-protected airbag; they are severely affected by weld 

UV & heat.



110mm 106mm 93mm

The spigot size is calculated at the point the spigot meets the drum face



1

2

3

4

5

6

7

8
9

10

11

12

SERVICE INTERVALS, every

1st 100km 1st 300km 1st 1,000km 10,000km (or 12 monthly)

WHEEL NUTS TIGHTENED

TORQUE SUSPENSION & SHOCK MOUNTING 
BOLTS

GREASE HINGE BUSHES

INSPECT BUSHES

SHOCK ABSORBERS VISUAL INSPECTION

WHEEL BEARINGS CHECK

WHEEL BEARING SERVICE

CHECK BRAKE MOUNTING BOLTS FOR 
TIGHTNESS

BRAKE ADJUSTMENT & CHECK

BRAKE SERVICE

WHEEL ALIGNMENT

BOLT / NUT SIZE TORQUE (N.m)

M12 BOLTS W/ LOCTITE
120SHOCK ABSORBERS

INITIAL CHECKS, at

APPLICATION

SERVICE INTERVALS, every

1st 100km 1st 300km 1st 1,000km 10,000km (or 12 monthly)

WHEEL NUTS TIGHTENED

TORQUE SUSPENSION & SHOCK MOUNTING 
BOLTS

GREASE HINGE BUSHES

INSPECT BUSHES

SHOCK ABSORBERS VISUAL INSPECTION

WHEEL BEARINGS CHECK

WHEEL BEARING SERVICE

CHECK BRAKE MOUNTING BOLTS FOR 
TIGHTNESS

BRAKE ADJUSTMENT & CHECK

BRAKE SERVICE

WHEEL ALIGNMENT

BOLT / NUT SIZE TORQUE (N.m)

M12 BOLTS W/ LOCTITE
120SHOCK ABSORBERS

INITIAL CHECKS, at

APPLICATION



Watch how to adjust trailer brakes  on YouTube:           CruisemasterClass - Ep 1







ISSUE POSSIBLE CAUSE REPAIR PROCEDURE

Poor brake adjustment Adjust brakes.
Selective resistor defective Check resistor for loose connections.
Worn or defective magnet Replace Magnet(s).
Short circuit Check electrical circuit.
Out of round drums Turn or replace drums.

Broken magnet lead wires Bench check magnets and replace if necessary.
Loose wheel bearings Check and adjust bearings.
Loose connections Check that all connections are clean and tight.
Inadequate trailer ground Check for proper grounding.
Short circuit Check electrical circuit.
Selective resistor setting incorrect Check for proper setting to avoid too much resistance.
Worn or defective magnets Replace magnets (magnet power gets better with wear).
Poor brake adjustment Adjust brakes.
Bent Backing plate Check backing plate flange.  Correct if necessary.
Contaminated lining Check and replace badly contaminated linings.

Inadequate gauge of wire See wiring recommendations.

CO
LD

 B
RA

KE
S

INTERMITTENT 
OR SURGING 

BRAKES

Inadequate trailer ground
Check for proper grounding. (Note: a ground through the trailer hitch is 
adequate).

Improperly wired or inoperative 
controller

Open circuit
Check for broken wires, loose connections. improper grounding, faulty 
connector plug, between car and trailer, etc.

Rewire Controller, check controller operation.
NO BRAKES

Check to be sure trailer is not under braked. Also be sure to have brakes 
on every axle.

Excessive load on trailer

Using trailer brakes only
Use of trailer brakes can cause early fade or loss of friction due to 
excessive heat.

WEAK BRAKES

ISSUE POSSIBLE CAUSE REPAIR PROCEDURE
Flanges improperly installed Check flange location.  Refer to axle manufacturer.

Weak or broken springs Check for weak or broken springs, and replace is necessary.

Brakes incorrectly adjusted Check brake adjustment.

Flanges improperly installed Check flange location.  Refer to axle manufacturer.

Weak or broken springs Check for weak or broken springs, and replace is necessary.
Lining excessively worn Check and replace if necessary.
Weak or broken springs Check for weak or broken springs, replace if necessary.

Contaminated lining Check and replace badly contaminated linings.

Brakes incorrectly adjusted Check brake adjustment.

GRABBING OR 
LOCKING 
BRAKES

Check and replace badly contaminated linings.  Disconnect red wire on 
Controller.

Disconnect red wire on Controller. Road test for braking modulation. If 
modulation is OK check the red wire.  Bench test Controller and replace if 
necessary.

A selective resister is required when brakes have greater power than is 
necessary for the weight on the axle.  Install selective resistor when 
necessary

No selective resistor

Controller not modulating

Contaminated lining

H
O

T 
BR

AK
ES

DRAGGING 
BRAKES

Range improperly located, bent 
backing plates

Improper bearing adjustment
Check and adjust bearings.  Check for worn or damaged bearings, replace 
if necessary.

Check and repair if necessary.
NOISY BRAKES

Electrical defect in controller
Insufficient gap between controller contractor strip and coil may cause 
brakes to drag.

Excessive residual pressure in tow car hydraulic system or a 'gummed up' 
controller cylinder may cause the controller to be help on slightly. 

Hydraulic defect in controller

Check brake assemblies for corrosion. Check to be sure magnet levers 
operate freely. Clean and lubricate brake assemblies.

Badly corroded brake assembly





ISSUE CAUSE
Air in hydraulic system
Hose swelling / deteriorated flex hoses
Fluid boil
Badly worn pads
Uneven pad wear
Old or contaminated brake fluid
Faulty master cylinder
Master cylinder mounting loose
Clogged reservoir cap vent hole
Soft or swollen caliper seals
Too much front or rear brake bias

Excessive wear or failure in opposite system
Worn tires
Tire pressure too high
Defective master cyclinder
Defective caliper
Caliper piston seizing
Defective, damaged, or oil-contaminated brake pad on one side
Defective Ccaliper
Scored or out-of-round rotor
Bad caliper mount
Loose caliper mount
Mismatched rotors and pads
Incorrect tire pressures

Bad axle-end alignment
Mismatched tires / load
Damaged or crimped brake line / hose
Loose suspension parts
Loose caliper mounting bolts
Incorrect wheel bearing adjustment
Excessive rotor run out or thickness variation
Wheel bearing damaged, worn, or out of adjustment
Cracked rotor
Bent axle
Caliper not sliding properly

Air in hydraulic system
Leak in hydraulic system
Tapered pad wear
Lack of fluid in reservoir
Contaminated pad linings
Brakes wet
Contaminated pad linings
Brakes wet
Worn pads
Brakes wet
Glazed or contaminated pads
Dirty or scored rotor
Bent caliper bracket
Taper wear on pads
Brakes not releasing
Bad surface finish on rotor
Pads too soft
Pad fade (inadequate cooling)
Cracked / damaged / contaminated rotor

BRAKES SQUEAL

RAPID PAD WEAR

EXCESSIVE SURGE ACTUATOR 
MOVEMENT OR SLOW RESPONSE 

(DELAY) FROM 
ELECTRIC/HYDRAULIC ACTUATOR

ONE BRAKE LOCKING / TRAILER 
PULLS TO ONE SIDE

FRONT OR REAR AXLE BRAKES 
LOCKING PREMATURELY

FRONT OR REAR AXLE BRAKES 
LOCKING PREMATURELY

VIBRATING TRAILER WHILE 
STOPPED

NO BRAKES

BRAKES GRAB

BRAKES NOT RELEASING / BRAKE 
DRAG



 Date:  .........................

 Km:  ...........................

 Service Agent:

 ..............................................

 ..............................................

 Date:  .........................

 Km:  ...........................

 Service Agent:

 ..............................................

 ..............................................

 Date:  .........................

 Km:  ...........................

 Service Agent:

 ..............................................

 ..............................................

 Date:  .........................

 Km:  ...........................

 Service Agent:

 ..............................................

 ..............................................

 Date:  .........................

 Km:  ...........................

 Service Agent:

 ..............................................

 ..............................................

 Date:  .........................

 Km:  ...........................

 Service Agent:

 ..............................................

 ..............................................

 Date:  .........................

 Km:  ...........................

 Service Agent:

 ..............................................

 ..............................................

 Date:  .........................

 Km:  ...........................

 Service Agent:

 ..............................................

 ..............................................

 Date:  .........................

 Km:  ...........................

 Service Agent:

 ..............................................

 ..............................................



 Date:  .........................

 Km:  ...........................

 Service Agent:

 ..............................................

 ..............................................

 Date:  .........................

 Km:  ...........................

 Service Agent:

 ..............................................

 ..............................................

 Date:  .........................

 Km:  ...........................

 Service Agent:

 ..............................................

 ..............................................

 Date:  .........................

 Km:  ...........................

 Service Agent:

 ..............................................

 ..............................................

 Date:  .........................

 Km:  ...........................

 Service Agent:

 ..............................................

 ..............................................

 Date:  .........................

 Km:  ...........................

 Service Agent:

 ..............................................

 ..............................................

 Date:  .........................

 Km:  ...........................

 Service Agent:

 ..............................................

 ..............................................

 Date:  .........................

 Km:  ...........................

 Service Agent:

 ..............................................

 ..............................................

 Date:  .........................

 Km:  ...........................

 Service Agent:

 ..............................................

 ..............................................

 Date:  .........................

 Km:  ...........................

 Service Agent:

 ..............................................

 ..............................................

 Date:  .........................

 Km:  ...........................

 Service Agent:

 ..............................................

 ..............................................

 Date:  .........................

 Km:  ...........................

 Service Agent:

 ..............................................

 ..............................................





5


